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1. If atax is imposed on a market with elastic demand and inelastic supply,

a. buyers will bear most of the burden of the 1ax.

sellers will bear most of the burden of the tax.

the burden of the tax will be shared equally between buyers and sellers.
it is impossible to determine how the burden of the tax will be shared.
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When workers are in an industry that is experiencing rapid improvements in technology, they can
expecl 10

b2

a. have wages decline.

b,experience wage increases, as their productivity is enhanced.
c.see a reduction in the need for physical capital.

d.see a reduciion in demand for final products.

In the market for hotel rooms in large metropolitan markets, the cost of a single aight stay can be
several times higher than a similar room in a small urban market. If the market for hotel rooms is
characlerized by monopolistic competition, this difference in price can be partially explained by

[¥S)

a. a higher cost for accommodations to compensate for the lower cost of airfare into metropolitan
markets.

the markup of price over a higher marginal cost in large metropolitan markets.

the cost of living in a large city.

transportation access.

the third degree price discrimination
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I1. fejER 0 (20%)

1. A risk-_av'érsc individual is offered a choice between a gamble that pays a $1000 with a probability of

25% and $100 with a probability of 75%, or a payment of $325. What will he choose?

2. What is the dominant Nash equilibrium strategy for the repeated prisoner’s dilemma game when both
players know that the game will end after one million repetitions?  If you were going to run an

experiment with human players for such a scenario, would you predict that players would use this

sirategy?
THL. f5

|. Consider the production function y = x“x{. Show the constant-outpti factor demand functions. Show

ihe associated cost function. ¢ 7§ ;7@ )
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2. iet (7 be the coniribution Lo the public good of individual i, the 1otal

quantity of public good supplied is & = ZG‘ . Each individual’s utility

1=l
function is givenas: U, = X*G*, Vi=1,..n.whereO <, ff <1.
Her objective function is thus:

[}

0, =XGP+A(l,-PX,-PG), Vi=l..n

where £ s the price of the private good X, #, is the price of G, and Y, is
income.

Suppose the welfare function ol the community with these n persons is:

W=>U
i=l
a) How many public good will be provided in equilibrium if (7 is voluntarily
contribuied by each individual?(10%)
b) How many public good is required for Pareto optimality?{10%)
¢} Show that the relative gap between the two quantities declines as

community size increases.(5%)

3. There are three players, A. B, and C, and three alternatives, X, Y, and Z.
Players vote simultaneously for an alternative; voie-buying, vote-exchange,
and abstaining are not altowed.  The alternative with the most votes wins; if
1o alternative receives a majority, the alternative X is selected.  The payolf
functions are:

U ) =U00)=U(Z)=2
* U Xy=U,2)=U(X)=1
U () =UX)=U(1)=0
a) Whal are the Nash equilibria? (20%)
b} How many pure-strategy equilibrium outcomes does this game Lave? And

what are these outcomes? (5%)
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Answer the following five gquestions, equally weighted

1. Suppose that X has a exponential pdf, fx (2} = (1/X)e** z > 0.
Find the moment-generating function for X. (2o %2)

2. Let Y5,Y5, ...,Y, be a random sample from the Poisson pdf

F<n

frly; 8) = e”0v/yl,y = 0,1,2,... Find the Maximum likelihood
estimator for € and the Cramer-Rao lower bound. (-e %)

3. Let Y be uniformly distributed on the interval (0,1). Condi-
tionally on Y = g, let X be uniformally distributed on the interval

{0,y). Find
, E(X|Y), EX, E(X?|Y), var(X).
(30720
4. Let X;, Xo, and X3 be independent, with X, ~ N(1,0%), X5 ~
N{-1,0%} and X3 ~ N{0,0%). Let

X2 4 X2 4 2X2 +2X, X,
5 .

Find the distribution of ¢(X]). (_107,_,,)

9(X) =

5. Let Y3, Y, ...Y, ~ N{u,0%). To test Hy : 0 = oj versus

Hy, : o # of at the a level of significance, find the rejection re-
gion. Why? C‘—>07b)




